Algebraic Applications of Proving Lines Perpendicular
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1. Let D be a point on AB between A and B.
41f CD L AB,m/ADC= 3x~y,and mZCDB = 2x + y,
3x~y | ¥y
( find the value of x and y.
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AB intersects CD at E, mZAEC = 3x and mZAED = 5x - 60.
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3. In ARST, a line drawn from vertex R intersects STinB. If m£SBR = ;\ + 30 and

mZTBR = 4x - 70, show that RB is an altitude in ARST.
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Proving  Lines Pexcpend culaue 2
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© Given:
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Proving Triangles Congruent Using Hypotenuse — Leg ( Hyp — Leg )

Two right triangles are congruent if their
hypotenuses and a pair of legs are
respectively congruent.
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* |, Given: AABC,BD 1 AC,AB = CB.
Prove: AADB = ACDB:
Plan: Show that AADB and ACDB are right

If hyleg = hy-leg,
the right triangles
are congruent.
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triangles. Then use hy. leg = hy. leg to prove A
them congruent.
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2. Given: Isosceles AABC,
altitude BD to base AC.
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E__ More Isosceles T;iangle i;foofs ............. _

|. IfAB = BCand 23 = 4, prove that AADC is isosceles.
Staterunis Feasons
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Using Two Pairs of Congruent Triangles

\. Given: AEC, BED, and GEF: AE = CE, FE = GE.
Prove: a. AFEC = AGEA. b <«C =LA c. ADEC = ABEA.
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. Given: PQ, PAB, PCD, AQD, and TQB. .1
Prove: QB = @D.
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